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1. 3 puncte 

𝑎 = 24𝑛+1 ∙ 32𝑛+1 − 24𝑛 ∙ 32𝑛 = 24𝑛 ∙ 32𝑛 ∙ 5 = 144𝑛 ∙ 5......................................................1p 

𝑏 = 5𝑛 ∙ 132 − 5𝑛+2 = 5𝑛 ∙ 24 ∙ 32 = 5𝑛 ∙ 144.......................................................................1p 

𝑛 = 0 ⇒ 𝑎 < 𝑏;  𝑛 = 1 ⇒ 𝑎 = 𝑏; 𝑛 ≥ 2 ⇒ 𝑎 > 𝑏....................................................................1p  

2. 3 puncte 

100𝑎 + 10𝑏 + 2 + 100𝑏 + 30 + 𝑎 + 400 + 10𝑎 + 𝑏 = 1098.............................................1p 

111(𝑎 + 𝑏) = 666 ⇒ 𝑎 + 𝑏 = 6.............................................................................................1p 

𝑎 + 𝑏 ⋮ 3 ⇒ 𝑎𝑏̅̅ ̅ ⋮ 3....................................................................................................................1p 

3. 3 puncte 

           𝑎 = nr. persoane, 𝑏 = nr. autoturisme 

5(𝑏 − 1) = 𝑎............................................................................................................................1p 

3𝑏 = 𝑎 − 5................................................................................................................................1p 

𝑎 = 20 , 𝑏 = 5.........................................................................................................................1p 

  

 
 

 

 

 

 

 

test de antrenament nr. 9


